
40min

  3
62

m
m

  

  2
11

m
m

  

  964mm  

  900mm  

74 m
m

  2104mm  

  2010mm  

  595m
m

  

  951mm    2044mm  

66 m
m

  5
95

,5
  

  2104  

  2
11

,3
  

  3
61

,5
  

  961,5  

  963,5  
  951  

16153 | 16155

BICAMA CARRIE 200/190X90
BED W/DR. BED CARRIE 200/190X90
LIT A/TIROIR LIT CARRIE 200/190X90

NOTICE DE MONTAGE
ASSEMBLY INSTRUCTIONS

MONTAGEANLEITUNG
ISTRUZIONI DI MONTAGGIO

INSTRUÇÕES DE MONTAGEM
INSTRUCCIONES DE MONTAJE

UPUTE ZA MONTAZU
MONTAJ TALIMATI

ESTA CAMA NO ES CONVENIENTE
PARA NIÑOS MENORES DE 6 ANOS

  

CE LIT NE CONVIENT PAS AUX
ENFANTS DE MOINS DE 6 ANS

EAN CODE: 8435178397713 |
8435178397720

1010x640x95mm 13.5kg 13kg

À MONTER SOI-MÊME

Enlace Verola S/N
46430 SOLLANA
Valencia- España

2150x180x125mm 17kg 16kg

I.M. - 04.177 / 00 / 24/10/2022 1/ 14

Cx

1/2

Tamaño de la caja
Dimensions colis

Peso bruto
Poids brut

Peso neto
Poids net

AVANT DE COMMENCER, SE
REPORTER AUX CONSEILS
DE MONTAGE EN ANNEXE.

POUR ENFANT CAPABLE DE MONTER ET 
DE DESCENDRE SEUL DE SON LIT.

BEFORE STARTING, REFER
TO THE ASSEMBLING ADVICE IN ANNEX. 

FOR A CHILD CAPABLE OF MOVING IN 
AND OUT OF ITS BED.

VOR DIE MONTAGE, 
BEILIEGENDE ANWEISUGEN BEFOLGEN. 

FÜR EIN KIND, DAS ALLEIN VOM BETT 
REITEN UND ABSTIEGEN KANN.

PRIMA DI COMINCIARE
LEGGETELE ISTRUZIONI DI

MONTAGGIO. PER UN BAMBINO IN GRADO 
DI GUIDARE E DESCENDERE DA SOLO 

DAL SUO LETTO.

ANTES DE COMEÇAR, VER AOS 
CONSELHOS DE MONTAGEM EM ANEXO. 
PARA UMA CRIANÇA CAPAZ DE SUBIR E

DESCER SOZINHA DA SUA CAMA.

ANTES DE EMPEZAR
CONSULTE LOS CONSEJOS

PARA EL MONTAJE. PARA UN NIÑO 
PODER VIAJAR Y DESCENDER SOLO DE 

SU CAMA.

PRIJE POČETKA MONTAŽE
MOLIMO PAŽILJIVO

PROČITAJTE UPUTE ZA
MONTAŽU. ZA DIJETE SE ODLAZI I DA SE 

DOLAZI OD SVOJEG KREVETA.

BASLAMADAN ÖNCE
EKTEKI MONTAJ TALIMATLARINI

INCELEYIMZ. SÜRMEK IÇIN BIR ÇOCUK 
IÇIN VE YATAKTA YALNIZCA 

TASARLAMAK IÇIN.

2/2



1

2

3

3

4

4

56
7 x11

2x PIECE 4
2x PIECE 3
1x PIECE 5

1x PIECE 1
1x PIECE 2
1x PIECE 6
11x PIECE 7

HOJA DE MONTAJE+
HERRAJES/
NOTICE DE MONTAGE+
QUINCAILLERIE

I.M. - 04.177 / 2-14 / 00 / 24/10/2022

ESTA CAMA NO ES CONVENIENTE
PARA NIÑOS MENORES DE 6 ANOS

  

CE LIT NE CONVIENT PAS AUX
ENFANTS DE MOINS DE 6 ANS

2/16

CAJA/COLIS 2/2CAJA/COLIS 1/2



  86mm  

11pc

1pc 1pc 2pc

2pc 1pc 1pc

I.M. - 04.177 / 3-14/ 00 / 24/10/2022

03

06

LISTADO DE PIEZAS - COMPOSANTS - PARTS LIST

05

02

04

01

H

HERRAGES - QUINCALLERIE - HARDWARE

A

B

C

D

E

F

G

3/16

HERRAJES - QUINCALLERIE - HARDWARE

H

J

I

K

07



4 x 16

10 x 40

4,5 x30

M6 x 100

M6 x 40

M6 x 70
Fx4

x16

x8

A B

DC

Gx2

Gx8 Hx4

Hx46

Ex2

x2

x4 x4

x1

Ix10

L
M

I.M. - 04.177 / 4-14 / 00 / 24/10/2022

H

HERRAGES - QUINCALLERIE - HARDWARE

A

B

C

D

E

F

G

3/16

HERRAJES - QUINCALLERIE - HARDWARE

H

J

I

K

HERRAJES - QUINCALLERIE - HARDWARE



x10

I

10 x 40

G

x2

x1

B X4

C

E

x2
M6 x 70

4

4

I
I

I
I

I

I
I

I

I

I

5

  120  

  47  

E+B

E+B

D

D

3

3

4

4

AZ

AZ (1 : 4.5)

E+B

D

D

x2

ETAPE 2)

ETAPE 1)

I.M. - 04.177 / 5-14 / 00 / 24/10/2022

5



x1

B

x4

A

  100mm  E

x1
M6 x 100

G+B
G+B

G+B
G+B

E+B

5

1

G+B

C

C

BA
G+BG+B

G+B

G+B

C

C

D

x1

G

x4
M6 x 40

x1

B

  100mm  E

x1
M6 x 100

D

x1

G

x4
M6 x 40

BC

BC (1 : 5)

E+B

G+B x2

D

BE

BE (1 : 6)

G+B
D

G+B

E+B

X2

C

X2

C

ETAPE 3) 

ETAPE 4) 

E+B

2

I.M. - 04.177 / 6-14 / 00 / 24/10/2022

7



H

x44
4,5 x 30

x1

B

x2

A

  70  E

x2
M6 x 70

4 x 16

H

x2

D

x2

BI

A

A

E

E
6

H

H

HH
HH

HH
HH

HH
HH

HH
HH

HH
HH

HH

HH HH HH HH HH HH HH HH HH HH
HH

7 x11

H

x2
4,5 x 30

BF

  +/-101mm  

  25mm  

H

BI (1 : 4)

A

ETAPE 5) 

ETAPE 6) 

I.M. - 04.177 / 7-14 / 00 / 24/10/2022

8



I.M. - 04.313 / 24/10/2022 10/13



I.M. - 04.313 / 24/10/2022

11/13





FRENCH: “Les meubles contenant des panneaux à base de bois (panneaux de
particules, panneaux de fibres, contreplaqué...) peuvent émettre des substances
polluantes dans l´air intérieur. Il est ainsi recommandé, après l´installation du meuble
dans son logement, d´aérer fréquemment la pièce concernée pendant au moins quatre
semaines afin de réduire son exposition aux polluants émis par le meuble.”

SPANISH: Los muebles que contienen paneles a base de madera (Aglomerado, cartón,
contrachapado...) pueden emitir sustancias contaminantes en el aire. Por lo tanto, se
recomienda airear frecuentemente los muebles al menos durante cuatro semanas
después de su instalación para reducir su exposición a los contaminantes emitidos por
los muebles.

ENGLISH: Furniture containing wood-based panels (Particle board, fibreboard,
plywood...) could emit pollutants on the air. Therefore, it is advisable to ventilate the
furniture at least during four weeks after its assembly in order to reduce the exposure
to the pollutants released by the furniture.


	01
	Drawing View593
	Drawing View594
	Drawing View595
	Drawing View659
	Drawing View660

	2
	Drawing View657

	3
	Drawing View553
	Drawing View661
	Drawing View662
	Drawing View663
	Drawing View664
	Drawing View666
	Drawing View667

	4
	Drawing View531
	Drawing View534
	Drawing View537
	Drawing View540
	Drawing View543
	Drawing View565
	Drawing View566
	Drawing View567
	Drawing View568
	Drawing View569
	Drawing View596
	Drawing View603
	Drawing View646

	5
	Drawing View177
	Drawing View444
	Drawing View599
	Drawing View601
	Drawing View642
	Drawing View650
	Drawing View656
	Drawing View668
	Drawing View682
	Drawing View685
	Detail View AZ (1 : 4.5)
	Drawing View687

	6
	Drawing View479
	Drawing View480
	Drawing View643
	Drawing View669
	Drawing View671
	Drawing View676
	Drawing View677
	Drawing View678
	Drawing View679
	Drawing View680
	Drawing View681
	Drawing View690
	Detail View BC (1 : 5)
	Drawing View694
	Detail View BE (1 : 6)
	Drawing View721
	Drawing View722
	Drawing View723
	Drawing View724

	7
	Drawing View452
	Drawing View463
	Drawing View464
	Drawing View465
	Drawing View472
	Drawing View473
	Drawing View653
	Detail View BH (1 : 2)
	Drawing View672
	Drawing View673
	Drawing View675
	Drawing View688
	Drawing View692
	Detail View BH (1 : 2)
	Drawing View696
	Detail View BF (1 : 3.5)
	Detail View BI (1 : 4)

	11 TEXT
	12 TEXT
	13 TEXT
	14

